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Vertical Division with aHelper Grid

Name:

Solve each problem. Answers
1) 2) 3)
1.
187524 53|7950 7614386
2.
3.
4,
5.
6.
2 5) 6) "
5218112 8013593 38|7054 8.
9.
7) 8) 9)
936789 2713700 72|12319
1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 418 2) 150 3) 57154 418
187524 53[7950 76[4386 i
0 0 0 2 150
75 79 43
72 53 0 3. 57r54
32 265 438 . 156
18 265 380
144 00 586 s 44173
144 0 532
0 0 54 6. 185r24
7. /3
4) 156 5) 44¢73 6) 185r24
52(8112 80[3593 387054 e 137r1
0 0 0
81 35 70 0. 32115
52 0 38
291 359 325
260 320 304
312 393 214
312 320 190
0 73 24
7 73 8) 137r1 9 32r15
93[6789 27[3700 72[2319
0 0 0
67 37 23
0 27 0
678 100 231
651 81 216
279 190 159
279 189 144
0 1 15
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